
 

 

SEA -BIRD    ELECTRONICS,    INC. 
1808  136th  Place N.E.,  Bellevue,  Washington   98005   USA 
Telephone: (425) 643-9866   Telex: 292915 SBEI UR 
Fax: (425) 643-9954 email: seabird@seabird.com

   
DATE SYM REVISION RECORD AUTH DR CHK 
08.03 A Updated hardware DB MJ  
1.5.04 B Clarified use of 30493 CB KLP  

 
SBE P/N 50056 
 
 
 

SBE 26 Seagauge Spare Hardware Kit 
 
 
O-Ring Contents 

SBE P/N Manufacturer P/N Primary SBE Application QTY 
30090 Parker, 2-153N674-70 Face seal, battery endcap 2 
30815 Parker, 2-233E603-70 piston seal, Connector endcap 1 
30816 Parker, 2-234E603-70 Piston seal, battery endcap 1 

 
 
Hardware Contents 

SBE P/N Manufacturer P/N Primary SBE Application QTY 
30145 Mach screw, 6-32 x ½ PH SS Battery endplate 6 
30242 Washer, #6,Flat SS For 30145 screws 6 
30447 Bolt, ¼-20 x 1-1/4 Hex Endcap lift eye hardware 2 
30493 Mach screw, 10-24 x 1-1/4 Secures Connector endcap to plastic housing only 4 
30552 Retaining ring Secures Mounting fixture to its bolt 2 

 Sea-Bird Electronics Procedure 
PROCEDURE NUMBER: 67016 
TITLE: SBE 26 Seagauge Spares Kit 
REVISION: B 
EFFECTIVE DATE: 01/05/04 
CHECKED BY:    PAGE 1 of 1

 


